GUAN PIIN

PAINTING TECHNOLOGY CO., LTD.

INSTRUCTIONS - PARTS LIST
GSA-101 Automatic Air Spray Gun

Instruction Manual : MGSA-101



A. BEArThRESH

B e

PHRAtEZRAL

AL
B. #if&
ZEREHEBERNERT  [4x6mm ok = FEF1=X
BN ZE R SHE BT 7 bar FLiEES [51]17¢
Rk =it R 3 bar IS 11K 0.8 ~ 1.0 mm
GrEEbE ZE seBE 1) 3 ~6bar (gt el 5-55°C
EE 372 ¢ N SUS304 ~

— BERAES

ANER R T 88 x 66 x 58 mm Teflon ~ Alu.




NEIEE : GSA-101%:51

20120911



TR  GSA-101451

No. Part No. Y ERBA Q'ty
01 |S2K-001 ZELiEEER 2
02 |S2K-030 BlRFE(LiE, 15 2

SCHUTZE-210112 [ | 0.5mm GSA-101-05
* 03 |SCHUTZE-210113 IEEE | 0.8mm GSA-101-08 | 2
SCHUTZE-210114 I | 1.0mm GSA-101-10
% 04  |SCHUTZE-640006ETP OfIIR , 245 2
05  |SWA-M5x5-S4 SETHIRAR 2
06 |S2K-004 H#tg £48 2
* 07  |O-A006N ORIIH 5
08  |[Mini88-025 ZERE T 2
08-1 |Mini88-025-1 #H 2
09  |SWA-M3x3-S4 SEDHIRAR 4
% 10  |SCHUTZE-640026ETP ORI 2
SCHUTZE-110156 {E$t, 0.5mm GSA-101-05
* 11 |S2K-032-08 18t , 0.8mm GSA-101-08 | 2
S2K-032-10 et , 1.0mm GSA-101-10
% 12 |SCHUTZE-640366ETP ORI 2
13 |Mini88-018 IS 2
14 |S2K-011 i 2
15 |S2K-012 i B R AR 2
16 |SWA-M3x4-S4 SEPEIZSR 1
17 |S2K-014 nEEE 3
18 |B304-2.5 s 3
19 |S2K-016 T 1

%20  |0-8xIN ORI 2
21 |S2K-018 S 1
22 |S2K-019 HHH 2

* 23 |S2K-020 JHIE 2
24 |SWE-M3x8-S4 IEELERES 4

% 25 |S2K-024 A 1
26 [S2K-025 i 1
27 |S2K-026 B 1

* 28  |0-AOION ORUER 1
29 |GSA101-01 HERE 1
30  [SCHUTZE-910014T [ X P 1
31  |SWB-M5x16-S4 RS 2
32 |GSA102-11 NI EEH 2
33 |GSA102-12 90" & EH 2
%  |GSA101-02 GSA-101-10fEH

20120911




